Daewoo Lanos (sedan),
(rok prod. 1997-2003),
Nr kat. A05214

M10X90

Zestaw Srubowy:
M12X70 2 szt.
M10X110 1szt.
M10X90 3 szt.
M10X35 2 szt.
Podktadki:
Fi12 2 szt.
Fi10x30 6 szt.
Spezynowki:
Fi12 2szt.
Fi10 6szt.
Nakretki:

M12 2 sz,
M10 6 szt.
Tulejki:
Fi18X60 2 szt.
Fi18X73 1 szt.
Fi18X53 1 szt.

|

i

!
M10X90

M10X35

Moment skrecajacy dla $rub i nakretek M8 25Nm; M10 55Nm; M12 85Nm; M14 135Nm ;M16 195Nm.

IBAK-POIL

BlzUB




